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Question Number : 1 Question Id : 50521228183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following principle suggests that different body parts develop at different rates at

various stages of development?

Options :

1. Development is unidimensional.

2. Development is unidirectional.

3. Development is a discontinuous process.

4. Direction of development is proximodistal and cephalocaudal

Question Number : 1 Question Id : 50521228183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521228184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?

Options :

1. Children's development takes place in a socio-cultural context.
2. Childhood is a period that can be divided into 10 distinct stages.
3. Children's thinking is not influenced by social interactions.

4. Children's development is solely determined by genetics.

Question Number : 2 Question Id : 50521228184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521228185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of predetermined unfolding of genetic dispositions is called -
Options :

1. adaptation.

2. learning.

3. socialization.

4. maturation.

Question Number : 3 Question Id : 50521228185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521228186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a primary and is a secondary agent of socialization.
Options :

1. family, school



2. media , family
3. school, media

4. media, neighbourhood

Question Number : 4 Question Id : 50521228186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521228187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg , what is the primary basis for 7-8 year old children's moral
decision ?

Options :

1. Social order maintenance

2. Social - contract maintenance

3. Punishment and obedience

4. Universal Ethical Principal



Question Number : 5 Question Id : 50521228187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521228188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Seriation in Jean's Piaget's theory refers to -

Options:

1. the ability to order objects based on one dimension, for example 'length'.
2. the ability to take the perspective of others.

3. a narrative form of thinking as used in story telling.

4. the ability to spatially map places, like ones’' school.

Question Number : 6 Question Id : 50521228188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521228189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Naseema, a 5 year old is certain that rolling out a ball of clay into a snake creates more clay.

According to Jean Piaget what is the reasoning behind her thinking?
Options :

1. Animistic thinking

2. Centration

3. Hypothetic - deductive reasoning

4. Transitive Inference

Question Number : 7 Question Id : 50521228189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521228190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Len Vygotsky offered a theory of cognitive development along the principal of —
Options :

1. social constructivism.

2. behaviourism.

3. psychoanalysis.

4. universalism.

Question Number : 8 Question Id : 50521228190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

™ ™y [ e = . . -, =
1 c{lﬂaumﬂﬂ%ﬁ!ﬂw—m Ieh1d &Rl THEIT mm%l

Options:

r‘\ &
1. *lAl=en L=l
2. SAIERSIS
3. -\. gﬂl"«.

4. TTEITEAT



Question Number : 9 Question Id : 50521228191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the term used by Len Vygotsky to describe child's act of speaking to
herself?

Options :

1. Private speech
2. Talk aloud

3. Scaffolding

4. Ego-centricism

Question Number : 9 Question Id : 50521228191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521228192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a progressive classroom?



Options :

1. Focus on drill and practice

2. Ability-based fixed segregation
3. Collaborative Learning

4. Use of rewards and punishment

Question Number : 10 Question Id : 50521228192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521228193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child has the ability to understand the intentions and desires of others. The child has :
Options :

1. Spatial intelligence

2. Interpersonal intelligence

3. Intrapersonal intelligence

4. Naturalistic intelligence



Question Number : 11 Question Id : 50521228193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521228194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is proposed in National Education Policy 2020?
Options :

1. Being educated in one's mother tongue is detrimental to educational and technological
advancements.

2. Schools should encourage children to learn and speak English as their first language.
3. Multilingualism has great cognitive benefits for young students.

4. Bilingual approach confuses students and hampers learning.

Question Number : 12 Question Id : 50521228194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521228195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Gender roles are —

Options :

1. learned behaviour.

2. inmate behaviour.

3. biological constructions.

4. genetically determined.

Question Number : 13 Question Id : 50521228195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521228196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The primary goal of continuous and comprehensive evaluation is -

Options :

1. to compare students' performance with one author.

2. to assess children's understanding and modify the curriculum and pedagogy for students.
3. to assign ranks to students as per their performance.

4. to declare students as 'pass' or 'fail' in particular subjects.

Question Number : 14 Question Id : 50521228196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

eI, Ta 9T 1o T TTAHF ITTT & —
Options :

1 BT % TETH 1 UF T T FAT|

e 5y e ™, e
3 BTN oAl 39h 591 h B-I'lHH A ehiY] ehiAll

4, T I TR T F Hwe AR fawer =iy



Question Number : 15 Question Id : 50521228197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Before deciding an assessment method for her class, what all should the teacher keep in mind?
(i) Who is going to use the results beside me ?

(ii)) What is the best way to find out learning curves of individual students ?

(iii) Which method would help me to reflect on my pedagogy ?

(iv) Which method would help to label and segregate students ?
Options :

1. (i) (i) (iii)

2. (i) (iv)

3. (ii) (iii) (iv)

4. (i) (ii)

Question Number : 15 Question Id : 50521228197 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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5. (i), (i), (iv)
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Question Number : 16 Question Id : 50521228198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusive education implies that

Options :

1. EWS (Economically Weaker Section) quota be made available only in government schools.
2. Students with disabilities should be placed in special schools only.

3. Only English be taught in government schools.

4. All children, irrespective of their abilities be provided quality education.

Question Number : 16 Question Id : 50521228198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FEEET e ' AT E

Options :

1 T B9 | FHAR 1 (EWS) T AR shale] TR [qaTerat 3 2 3uered] Sam S|

, Tezamm o =t faws e e = & fren & Sl

i T r
3, T ToETera 5 Sae ST IS UGt 1)

. ATATSAT & T ST, T =il o0l UM (9187 ISR SHTaTs 1w



Question Number : 17 Question Id : 50521228199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) - While teaching, a teacher should use a variety of ways to represent the context of

teaching.
Reason (R) - Teachers need to adapt their pedagogy to suit the diverse needs of learners.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 17 Question Id : 50521228199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I (A) T8 T W%ﬁﬁﬁfmq&-mwﬁl 1 27 o Tt e A0 =1ren]

701 (R) - e o ot en 1 faee STTavaemaTan 27 TR o7 17 0 3995 e S e
W e

Options :

. (A) #T (R) THT TET & &A1 (R) FET SA&T a1 2 (A) |

1

(A) 3R (R) FHT & & AfR (R) TR SR T R (A) )

2

. (A) TE & ST (R) T 9 2

3

, (A) R (R) 31 e 2



Question Number : 18 Question Id : 50521228200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child is facing regular difficulty in writing. She also experiences a challenge in formation of
alphabets and spacing of words. These characteristics hints towards which of the following
learning disability?

Options :

1. Dyslexia

2. Dysgraphia

3. Dyscalculia

4. Attention Deficit Hyperactivity Disorder

Question Number : 18 Question Id : 50521228200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521228201 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To cater to individual differences among the students, a teacher should -

Options :

1. use standardized instructional methods and uniform ways of assessment.

2. use a variety of pedagogical approaches and mean of assessment.

3. use uniform pedagogy to ensure memorization and focus on summative assessment.

4. increase the number of paper-pencil tests and focus on recall.

Question Number : 19 Question Id : 50521228201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521228202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is an essential characteristic of creativity?

Options :



1. Divergent thinking
2. Impulsiveness
3. Centration in thought

4. Convergent thinking

Question Number : 20 Question Id : 50521228202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521228203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Young children construct knowledge and make meanings through
(i) Active exploration

(ii) Play

(iii) Active on materials and experimenting

(iv) Interaction with peers and adults



Options :

1. (i), (iii)
2. (i), (i), (iv)
3. (i), (ii), (iii)

4. (i), (i), (iii), (iv)

Question Number : 21 Question Id : 50521228203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521228204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To help children memorise the phone numbers, a teacher suggested students to divide 10 digits
of phone number into 3- 4 smaller units and then remember. The strategy suggested by the

teacher here is called-



Options :

1. chunking.

2. encoding.

3. assimilation.

4. adaptation.

Question Number : 22 Question Id : 50521228204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521228205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following form of learning should be emphasised most in schools?
Options :

1. Acquiring different skills and knowledge through interaction with surroundings
2. Rate-memorizing the content

3. Passive imitation of others

4. Conditioning of behaviours through stimulus - response association



Question Number : 23 Question Id : 50521228205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521228206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following set exemplify a social constructivist approach to facilitate reading among

students?

(i) Salma uses flash cards to help students learn new words and rewards them with candy for

correct responses.

(i) Pramati has her students choose from a variety of books to read. Those students who read a

particular book are made to discuss the book on a regular basis.

(iii) Arundhati emphasise the importance of using contextual material to help determine the

meaning of new words.

(iv) Rekha has her students write each word they miss on a spelling test five times to help them



remember the word.
Options:

1.(i), (iv)

2. (i), (iii)

3. (ii), (iii)

4. (i), (ii)

Question Number : 24 Question Id : 50521228206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521228207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



As a teacher how can you facilitate problem solving abilities in your students?
Options:

1. Generating fear amongst your students.

2. Encouraging a fixed way of solving problem.

3. Encouraging use of analysis.

4. Emphasising on use of passive memorisation strategies.

Question Number : 25 Question Id : 50521228207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521228208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will result in facilitation of meaningful learning?
Options :

1. Promoting de-contextualised learning in the classroom.

2. Encouraging multiple ways of working at a problem.

3. Encouraging rote learning.



4. Copying answers written by the teacher on the blackboard.

Question Number : 26 Question Id : 50521228208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521228209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students are likely to experience the emotion of when they attribute internal factors

to explain their success at a task.
Options :

1. shame

2. anger

3. pride

4. anxiety

Question Number : 27 Question Id : 50521228209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521228210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At primary level of education, use of multi- sensory approach should be encouraged because -
Options :

1. it makes learning more effective.

2. it gives opportunities to exclude certain children from education.

3. it saves lot of instruction time of teacher.

4. it yields to docility among children.

Question Number : 28 Question Id : 50521228210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521228211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children often form alternative conceptions and misconceptions about various concepts. Which of

the following statement is NOT correct in this context?

Options:

1. Alternative conceptions and misconceptions formed by students should be highly discouraged
by the teacher.

2. Formation of alternative conceptions and misconceptions is very natural among children as well

as adults.

3. A teacher should definitely attend to these alternative conceptions and misconceptions as they

are significant in process of teaching- learning.

4. Alternative conceptions and misconceptions are not always baseless rather these represent

children's intuitive ideas about world around them.

Question Number : 29 Question Id : 50521228211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521228212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

view of learning explains that tangible incentives and rewards motivate students for

leaning.
Options :

1. Humanistic
2. Behavioural
3. Cognitive

4. Socio-Cultural

Question Number : 30 Question Id : 50521228212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Section type : Online
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Clear Response: Yes
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Question Number : 31 Question Id : 50521228213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.3 ; 2 ;
In a school there are 96 teachers, out of which - th teaches High school classes. If; th of the High school teachers are
Mathematics teachers, then the number of Higﬁ school teachers who don't teach Mathematics are:

Options :
1. 36



Question Number : 31 Question Id : 50521228213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
7. 36

Question Number : 32 Question Id : 50521228214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1 2 4. |
Sl
2 3 5
Options :

13



39

19

Question Number : 32 Question Id : 50521228214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-2

Options :
13
1. 30

39

19
4. 30

Question Number : 33 Question Id : 50521228215 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the difference between the face value of the number 7 in the numbers 4782 and 32170.

Options :

1. 630



2. 112

4. 770

Question Number : 33 Question Id : 50521228215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 630

4. 170

Question Number : 34 Question Id : 50521228216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true for the set of whole numbers?
Options:
1. a+b=5b+a

2 a—b=b—a

3 aXxb=bXa



g (@atb)tc=a+(b+c)

Question Number : 34 Question Id : 50521228216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.a+b=b+a

> a—b=b-a
3 axb=bxa

4.[a—b}+s:=a+{|:)—r.:]

Question Number : 35 Question Id : 50521228217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When asked to divide a number by 6, Rani has divided it by 9 and she got the quotient as 21 and remainder as 3.
Realising her mistake, later she divided it by 6. What will be the quotient and remainder?

Options:
1. Quotient — 31, Remainder-0
2. Quotient — 31, Remainder-3

3 Quotient — 32, Remainder-3

4. Quotient — 32, Remainder-0



Question Number : 35 Question Id : 50521228217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| VTTEE-3 1, -0

, HETH 31, STHF-3

5 WITHH-32, ITFA-3

5 WTTHE-32, ITHA-0

Question Number : 36 Question Id : 50521228218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a pair of ‘like fractions’?

Options :

[
=
=
=

I

[
P
=
=
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Question Number : 36 Question Id : 50521228218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 50521228219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers are not perfect cubes?
Options :
1. 729

5> 1000

3. 333



4 216

Question Number : 37 Question Id : 50521228219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 50521228220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shikha went to a brick kiln to buy bricks. The rate of the bricks was 2500 rupees per one thousand bricks. How many
bricks can she buy if she has only 4000 rupees?

Options :

1. 10000

5> 1600

3. 16000

4. 4000



Question Number : 38 Question Id : 50521228220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 10000

5 1600
3. 16000

4. 4000

Question Number : 39 Question Id : 50521228221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mini told her teacher ‘| made a rectangle whose each side is 4 crm’.
Which of the following statements is correct:

Options:
1. Arectangle cannot have all sides equal.
2. All squares are rectangle

3. All rectangles are square

4 There is no link between a square and a rectangle.



Question Number : 39 Question Id : 50521228221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ot = a7 forfeepn ot e 57 e T ST e et T 4 Ferer #)
et i sm s T 2

Options :
T 1T i Tft T e TE A wewe|

, ¥t =T AT T E
3 Tt ST T A E

;. T3 T AT U ST T S He T B

Question Number : 40 Question Id : 50521228222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The angles of a triangle are in the ratio 4;5:6. What will be the measure of the angles of the triangle?
Options:

1. 507, 60°, 70°

o 45°% 60°, 75°

3 48°,60°,72°

4 52°,60°, 68°



Question Number : 40 Question Id : 50521228222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

| 50°,60° 70°

45°. 60°,75°
48°, 60°, 72°

52°. 60°, 68°

Question Number : 41 Question Id : 50521228223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ragini reaches the station at 2:00 in the afternoon. She has to take a train to Aligarh. There are four trains. Train A,
Train B, Train C, Train D scheduled for departure at 17:05, 4:32, 18:30 and 19:15 respectively.
Which train must she take so that she spends minimum amount of time waiting for the train?

Options :
1. Train A
2. Train B

3. TrainC

4. Train D

Question Number : 41 Question Id : 50521228223 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 50521228224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rita is a ward-member of her area; she wishes to create a community room of size 11 feet x 16 feet. To lay tiles on the
floor she has four options: 1.5 feet x 1.5 feet, 2 feet x 2 feet, 2.5 feet x 2.5 feet, 3 feet x 3 feet.
Which size of tile should she buy for the community room, so that she can lay the tiles without cutting?

Options :
1. 1.5 feet x 1.5 feet
2. 2feetx 2 feet

3. 2.5feet x 2.5 feet

4. 3feetx 3 feet



Question Number : 42 Question Id : 50521228224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 1.5®E % 1.5%E

2. EEEEXE‘:EIE
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4. 3ERE 3R

Question Number : 43 Question Id : 50521228225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Renu divided her students into groups of 8 each and asked them to record their weights. She further asked the
groups to calculate the mean weight of their respective group. Group A (which consists of 8 students) measured their
weights and calculated the mean weights as 38.2 kg. Later on they realized that the weight of one of the student they
recorded is incorrect. Instead of 25.9 kg, they recorded it as 29.5 kg.

What will be the correct mean for the group?

Options :
1. 37.75kg
5 38.65kg

3 37.2kg

4 38.9kg



Question Number : 43 Question Id : 50521228225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 37.75 &,

, 38.65 T
5 372 R

4 38.9T®m.

Question Number : 44 Question Id : 50521228226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Observe the following pattern and select the next term:
(9-1)+8=1

(98-2)+-8=12

(987-3)+-8=123

(9876 —4) + 8§=1234

Options :
1. (98765—-5) = 8=123456

, (9876—4)+8=12345



3 (98765-4)+8=12345

4 (98765-5)+8=12345

Question Number : 44 Question Id : 50521228226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=1 few 7m0 U = ST IS 271 2377 U faraT:
(9-1)+8=1

(98-2)=8=12

(987 -3)+-8=123

(9876 —-4)+-8=1234

Options:

1 (98765 -5 )+ 8=123456

, (9876 -4)+8=12345

3 (98765—4)+8=12345

4 (98765-5)+8=12345

Question Number : 45 Question Id : 50521228227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Priyanshu has currency notes of 10 and X20. She uses 2 notes of 20 and 1 note of X10 to form 350. How many other
combinations are possible to form the same amount using both the currency notes? You can ignore the spatial
arrangements of the currency notes.



Options :
1. 0

Question Number : 45 Question Id : 50521228227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 0

[

Question Number : 46 Question Id : 50521228228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following are four questions posed by a mathematics teacher. Which of the following is an open-ended question?

Options :



1. If sum of two numbers is 15 and one of them is 7, what will be the other number?
2. If the age of Anil is 7 years and his father’s age is 5 times more than that of Anil’s age. What will be the age of father?
3. If sum of two numbers is 17, then what are the numbers?

4. What should be added to 17 to get 23?7

Question Number : 46 Question Id : 50521228228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521228229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher uses the following riddle in the class while developing the concept of place value ‘| am less than 5 tens and 4
ones’

The objective of this riddle is to

Options :



1. Do a summative assessment.

o Break the monotony of a mathematics class.
3 Ask close ended guestions on place value.

4. Reinforce the concept of base 10 and place value.

Question Number : 47 Question Id : 50521228229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 50521228230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which among the following is/ are the objective/objectives of teaching ‘shapes’ at Primary class.
(a) To develop visualisation skill

(b) To memorise the names of geometrical shapes

(c) To enhance spatial reasoning ability

Options :
1. (a) and (b)

2. (a) and (c)
3. (b) and (c)

4. Only (b)

Question Number : 48 Question Id : 50521228230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521228231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning resources in mathematics can be used for visually challenged students?
(a) Geoboard
(b) Geogehra
(c) Abacus
(d) Graphic calculator
Choose the correct option.

Options :
1. (a) and (d)

2. (a) and (c)
3. (b)and (d)

4. (a), (b) and (d)

Question Number : 49 Question Id : 50521228231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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~(b) 3R (d)

3

4. (), (b) 3R (d)

Question Number : 50 Question Id : 50521228232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching ‘geometrical shapes’ a teacher thinks of planning a trip to historical places. It reflects:
Options :

1 Field trips have been recommended by CBSE, so they must be done
o A good break from routine mathematics class and an opportunity to visit the historical places.
3. Shapes are an integral part of any architecture and such trips encourage mathematics beyond classroom.

4. Teacher has completed most of the syllabus well in time and now needs to provide leisure.

Question Number : 50 Question Id : 50521228232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521228233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary class mathematics teacher poses the following question to his students:
“Reena and Shama went to a shop to buy a bag. There were many bags with different price tags. They got confused by

looking at so many price tags. Can you help them by arranging the price tags either in ascending or descending order™?
BAG-A-> 4732,

BAG-B-> 2364,
BAG-C- 21934,
BAG-D- 23475,
BAG-E5 22937,
BAG-F- 23004,

In the given context, which of the following statements is true?
Options :

1. Only the concepts of ascending and descending order can be strengthened using the question,

The teacher can use the question to go beyond comparison of numbers and introduce the concept of data handling
o and sorting of data.

3 It is not a mathematical question as it does not involve basic operations on numbers.

4. The teacher should avoid bringing contextual questions into the classroom.

Question Number : 51 Question Id : 50521228233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521228234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, which of the following represents the vision of a mathematics
classroom?

Options :

1 Students memorizing the formulae



o Teacher as the only narrator in the class
3. Students copying solved examples from the textbook

4. Children posing and solving meaningful problems in the classroom

Question Number : 52 Question Id : 50521228234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521228235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true for ‘Anecdotal Records’ as an assessment tool in mathematics?
Options :

1 It includes the project and field work done by the child



5 It is use to record and judge the quality of a child’s work against a specified criteria
3 It records the presence or absence of a particular skill or process

g 1t includes written description of a child's progress on a day to day basis and provides observational narrative records

Question Number : 53 Question Id : 50521228235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521228236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass IIl teacher introduces the multiplication in her class using repeated addition and rectangular arrays. She is
Options:

1 Introducing multiplication through informal strategies by utilising the previous knowledge and experiences of students.

2. Teaching multiple formal algorithms of multiplication.



3. Wasting a lot of time and should focus on teaching formal algorithm anly.

4. Finding leisure time for herself by keeping the students engaged.

Question Number : 54 Question Id : 50521228236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521228237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child is counting the number of balls by putting a finger on the balls one by one and saying number names in order.
She has counted some balls twice. Which pre number concept is yet to be strengthened in the child?

Options :

1 One-to-one correspo ndence

2. Seriation



3. Classification

4. Cardinality

Question Number : 55 Question Id : 50521228237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521228238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Misconceptions in mathematics can be removed by
Options :
1. Engaging children with examples and non-examples

o Framing similar questions and repeating them many times

3. Lot of practice and drill of guestions



4. Demonstrating the algorithm again

Question Number : 56 Question Id : 50521228238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521228239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Romi in her mathematics class asks her students to create appropriate situations for following computations:
(i), 1042 (i) 20x2 (iii) 10-2 (iv) 102
Which of the following statements is correct about the pedagogy used by Ms. Romi?

Options :
1. She is testing the problem solving skills of student by giving mixed set of problems

2. She is testing the language proficiency of students

3 She is trying to help students to develop mathematical statements and problem solving skills



4. Sheis trying to maintain discipline in her class by giving some task to the students

Question Number : 57 Question Id : 50521228239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521228240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are indicative of higher aims of teaching mathematics?

(a) Mathematics education should turn out employable adults who contribute to economic and social
development.

(b) Mathematics education should develop child's inner resources like abstract thinking and drawing logical
conclusions

(c) Children should see mathematics as a way of life like communicating, discussing and developing atfitude for
problem solving

(d) Mathematics education should focus on factual knowledge and procedural fluency

Options :



. (a) and (c)

—

. (b)and (c)

N

. (c) and (d)

w

_ (b ) and (d)

D

Question Number : 58 Question Id : 50521228240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521228241 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Newman, there are five levels to be undertaken before a student is able to solve a word problem. They
are listed below in a random order.

(a) Comprehend what the task is asking.

(b) Must be able to read the question.

(c) Undertake the necessary mathematical operations

(d) Need to translate the problems into mathematical demands.

(e) Represent the answer as a meaningful construct.
Which of the following represents the correct order of levels?

Options :
1. (b), (@), (c), (d), (e)

5 (b), (d), (a), (c), ()
5. (a), (b), (e), (¢}, (d)

4 (b), (@), (d), (0), (e)

Question Number : 59 Question Id : 50521228241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

. (b, (@), (0), (d), (e)




2. (b}., {d} (a), (c), (e)
5 (). (b), (0), (©), (d)

4 (b),(a), (d), (c), (¢)

Question Number : 60 Question Id : 50521228242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable for the professional development of mathematics teachers?
Options :

1. Attending workshops and seminars on mathematics
5 Developing teaching-learning resources
3 Minimum interaction with other mathematics teachers working in same school or in neighbourhood schools.

4. Participating in faculty development programmes.

Question Number : 60 Question Id : 50521228242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

SectionId: 505212892
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121624
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50521228243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between Trivandrum and Gandhidham is 2268 kilometers. If a train covers this
distance in 42 hours, the average speed of the train in between the railway stations of these two

cities in metre per second is
Options :

1.54

2.30

3. 27



4.15

Question Number : 61 Question Id : 50521228243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 54

2. 30

Question Number : 62 Question Id : 50521228244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is at A and wants to reach at B. For this he first goes to O which is 120 m due north of A
and then he goes from O to B by covering a distance of A from B and the direction of A with

respect to B are respectively
Options :

1. 130 m; South-west

2. 130 m; South-east

3. 170 m; South-east

4. 170 m; South-west

Question Number : 62 Question Id : 50521228244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
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4. 170 r;r.‘r:_ET%UT—U'F%Fr

Question Number : 63 Question Id : 50521228245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select true statement about sloths from the following

Options :

1. Sloths look like bear and spend almost 22 hour a day sleeping while hanging upside down on a
tree branch

2. Sloths look like chimpanzee and spend almost 17 hours a day sleeping while hanging on a tree

branch

3. Sloths look like chimpanzee and spend almost 22 hours a day sleeping while hanging upside

down on a tree branch

4. Sloths look like bear and spend almost 17 hours a day sleeping while hanging upside down on a

tree branch

Question Number : 63 Question Id : 50521228245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521228246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When you pour milk through a piece of cloth, cream remains on it. The method of separation here
is -

Options :

1. Filtration

2. Sieving

3. Sedimentation

4. Decantation

Question Number : 64 Question Id : 50521228246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521228247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of Galconda Fort given in the class V textbook, 1cm distance is equal to a distance of
110 metres on the ground. On this map the distance between Fateh Darwaja and Jamali Darwaja is

10.7 cm. On the ground, the minimum distance between the two would be
Options :

1.1.070 km

2.1.177 km

3.10.70 km

4.11.77 km

Question Number : 65 Question Id : 50521228247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 1.070 km

o 1.177 km

3. 10.70 km



4 11.77 km

Question Number : 66 Question Id : 50521228248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A group of three states having Bay of Bengal on one side is -
Options:

1. Andhra Pradesh, Maharashtra, Tamil Nadu

2. Odisha, Kerala, Tamil Nadu

3. Odisha, Andhra Pradesh, Tamil Nadu

4. Kerala, Karnataka, Tamil Nadu

Question Number : 66 Question Id : 50521228248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 67 Question Id : 50521228249 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppose you are in Madhya Pradesh. With respect to this state the direction of our country’s

thickest forest is
Options :

1. Due North

2. North-East

3. North-West

4. South-West

Question Number : 67 Question Id : 50521228249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 68 Question Id : 50521228250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The height of the peak of Mount Everest is
Options :

1.8600 m



2.8850 m
3.8950 m

4. 8990 m

Question Number : 68 Question Id : 50521228250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HT3+2 UaiFe ohi TTe] ol e & —
Options :
1. 8600 m

2 8850 m
3. 8950 m

4. 8990 m

Question Number : 69 Question Id : 50521228251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A shooting star is a

Options:

1. Star

2. Comet

3. Meteor

4. Asteroid

Question Number : 69 Question Id : 50521228251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1. AT

Question Number : 70 Question Id : 50521228252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about the ‘Khejadi’ tree.

A. This tree is mainly found in desert areas.

B. This tree can grow without much water.

C. This tree stores water in its trunk which can be used for drinking when needed.

D. The bark of this tree is used for making medicine and its wood is not affected by insects.
E. This tree has very few leaves.

The correct statements are
Options :
1.A,Band D

2.A,Band C



3.B,Cand D

4. A,Cand E

Question Number : 70 Question Id : 50521228252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T H T H 1 1T 70 e O Fer e A —
A, 7% 34 T YRR 471 % O e 2
B. 38 T % AT 4700 78 1 e 72 2|
C.%wmﬁﬁwﬁ%ﬁm%&w sutfummwmqm@tr(%mam%l
D.sﬁ‘a_fﬂiﬁwm'm’rﬁuﬂ\mc:cnqeﬂ%wﬁ?ﬁ%ﬁ*ﬂiﬂﬁﬁﬁmﬁﬂm?ﬁméi
E. 39 347 % 927 7 U & £

Options :

_A,B¥RD

1
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Question Number : 71 Question Id : 50521228253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement given by a student

“T have come from an area where rainfall is very scarce. It is very hot too. Our houses are made of
mud. The walls of the houses are very thick and also plastered with mud. The roofs are made of

thorny bushes.”



This student must be from a village of
Options :

1. Laddakh

2. Assam

3. Rajasthan

4. Uttar Pradesh

Question Number : 71 Question Id : 50521228253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1, SR

Question Number : 72 Question Id : 50521228254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement made by a student while giving her introduction in a meeting;



“T am from a place where most of the people prefer to eat fish cooked in mustard oil.”

The student must be from
Options :

1. Goa

2. Kerala

3. Kashmir

4. Mizoram

Question Number : 72 Question Id : 50521228254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 73 Question Id : 50521228255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select correct statement from the following

Options :



1. An adult elephant can eat more than 2 quintals (220kg) of green leaves and twigs in one day.
2. Because of their heavy weights most elephants like to take too much rest after eating.
3. Even a three-month-old baby elephant generally weighs about 200 kg.

4. On an average most elephants sleep for 9-10 hours in a day.

Question Number : 73 Question Id : 50521228255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
At 5 & ¥81 o TH0 —
Options :
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Question Number : 74 Question Id : 50521228256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the group which can be recycled after use.
Options :

1. Polythene Bag, Paper, Batteries, Mobile phones
2. Bedsheets, Newspaper, Plastic Bottle, Batteries

3. Iron nails, Glass Bottle, Steel Mug, Cardboard Box

4. Leather bag, Wooden table, Plastic Vase, Bedsheets



Question Number : 74 Question Id : 50521228256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521228257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match the following

Column I Column II
(1)  Chholey-Bhature A. Goa
(1) Boiled tapioca B. Kerala

with curry made
using coconut

(111)  Fish cooked in C. Uttarakhand
mustard oil
(1v)  Sea fish cooked in D. Kashmir

coconut oil

E. Punjab

Options :

1. (i)-E, (ii)-D, (iii)-B, (iv)-A



2. (i)-C, (ii)-D, (iii)-B, (iv)-A
3. (i)-E, (ii)-A, (iii)-B, (iv)-D
4. (i)-E, (ii)-B, (iii)-D, (iv)-A

Question Number : 75 Question Id : 50521228257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

. (i)-E. (ii)-D, (iii)-B, (iv)-A
, (i)-C. (ii)-B, (ii)-D, (iv)-A

o (D)-E, (ii)-A, (iii)-B, (iv)-D

4. (D-E, (ii)-B, (iii)-D, (iv)-A

Question Number : 76 Question Id : 50521228258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select a suitable assessment task for class IV students of EVS.
Options:

1. Writing question answers of the chapter on floating and sinking.
2. Performing the activity to observe sinking and floating.

3. Explaining definition of floating and sinking.

4. Learning the list of objects which sank or floated.

Question Number : 76 Question Id : 50521228258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521228259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Art and craft should be integrated in EVS teaching, because it promotes

A. creativity



B. peer learning
C. discipline in the class

D. inclusion
Options :
1.Aand D
2.Aand B
3.A,Band C

4. A,Band D

Question Number : 77 Question Id : 50521228259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521228260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following strategy promotes inquiry while teaching the theme ‘Shelter’ to class IV

students?

Options :

1. Asking students to collect pictures of different types of houses

2. Sharing pictures of different types of shelters

3. Asking students to narrate their experiences of visiting different house construction sites

4. Showing a power point presentation of different shelters across the country

Question Number : 78 Question Id : 50521228260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521228261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EVS the primary classes is a subject area which integrates
Options :

1. the concepts and issues of Science and Environmental Education



2. the concepts and issues of Social Science
3. the concepts and issues of Science and Social Science

4. the concepts and issues of Science, Social Studies and Environmental Education.

Question Number : 79 Question Id : 50521228261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521228262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an objective of EVS at the primary level
Options :

1. To sensitise learners to issues related to gender discrimination

2. To develop simple models from locally available materials

3. To gradually prepare students for upper primary science concepts

4. To orient students towards occupational choices available in their locality

Question Number : 80 Question Id : 50521228262 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521228263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher asks her students to consult their family members to find out the names of different

plant parts like roots, stem and flowers eaten as food. This activity is designed to
Options :

1. promote experiential learning

2. promote learning of concepts related to food

3. make the lesson more enjoyable and interesting

4. allow the students to discover about food freely

Question Number : 81 Question Id : 50521228263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521228264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategy of teaching EVS to the visually impaired student is most
appropriate?

Options :

1. Make a mixed peer group in class

2. Allow more time to finish a task

3. Break the tasks into parts and teach the parts separately

4. Use more of tactile teaching - learning materials

Question Number : 82 Question Id : 50521228264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521228265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate stage of the lesson plan where students should be assessed while teaching

EVS is

Options :

1. At the end of the lesson

2. At the introduction of the assessed
3. When students wish to assessed

4. Over the course of teaching - learning

Question Number : 83 Question Id : 50521228265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521228266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You have to assess your students’ EVS projects and give them quick feedback. Which assessment

tool will you choose?
Options :

1. Observation

2. Rating scale

3. Check-list

4. Peer assessment

Question Number : 84 Question Id : 50521228266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521228267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The objective of assessment of EVS learning is that

Options:

1. teacher gathers information about the students’ achievement

2. itis a way of teaching rather than evaluation

3. it provides feedback about students’ progress in mastering new knowledge

4. it informs about students’ learning to provide support for the next step

Question Number : 85 Question Id : 50521228267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521228268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Primary classes (Classes I to V) will consist of which of the following stages according to NEP, 20207?

A. Preparatory Stage



B. Middle Stage

C. Foundational Stage
Options :

1. AOnly

2.B Only

3.A&C

4. B&C

Question Number : 86 Question Id : 50521228268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521228269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a process skill at primary level?



Options :

1. Mapping

2. Defining variables operationally
3. Testing Hypothesis

4. Recalling facts

Question Number : 87 Question Id : 50521228269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521228270 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is a sub-theme under the theme ‘Family and Friends'?
Options :

1. Things We Make and Do

2. Work and Play

3. Food and Water

4. Our Shelter



Question Number : 88 Question Id : 50521228270 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fig Thar A i S F=m g e s su w20
Options :

| AT EA T E ACFA T

2. %IJ 3ﬁ-{ *-%'3‘1

WIS U ST

4, TETT HT

Question Number : 89 Question Id : 50521228271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these is a divergent question a teacher of EVS will ask her students to promote
creativity?

Options :

1. What are the steps of harvesting onions starting from sowing onion seeds in the soil?
2. What step will you take to reduce air pollution in metro cities like Delhi?

3. How will you separate salt from salt solution?

4. Why leaves have green colour?

Question Number : 89 Question Id : 50521228271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 90 Question Id : 50521228272 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The dynamic, holistic and experiential nature of EVS learning by students is best assessed by
Options:

1. Rating scale

2. Pen-paper Tests

3. Authentic Assessment strategies

4. Oral tests

Question Number : 90 Question Id : 50521228272 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
SectionId: 505212893
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121625
Question Shuffling Allowed : Yes

Question Id : 50521228273 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 50521228274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ag\rﬂ%mﬁﬁﬁmm AT R E?
. I YT e 2
. T T S SR 2
3. I T U AT E R HeR A
4. ¥ T SR 2
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521228275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T & TeY T -9 TR0 T9=H T ST
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k.

I TF TS 2

I-J

3. 7 Uk ¥ T 2
4. I ST ST WA 2
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521228276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

faa I T TES-U8 I 1 WA 3 B F T4 417
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Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521228277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 50521228278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521228279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521228280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521228281 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options:
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521228282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T E - E

. F+0F

2. §+d7

% 'ﬁ + HdH

4. TH + 3
Options :
1.1
2.2
3.3

4.4

Question Id : 50521228273 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 50521228274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ag\rﬂ%mﬁﬁﬁmm AT R E?
. I YT e 2
. T T S SR 2
3. I T U AT E R HeR A
4. ¥ T SR 2

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521228275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T & TeY T -9 TR0 T9=H T ST
29

k.

I TF TS 2

I-J

3. 7 Uk ¥ T 2
4. I ST ST WA 2
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521228276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

faa I T TES-U8 I 1 WA 3 B F T4 417
|. TEMIEET

. YT ST

. Hd

3
4. IO9
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[

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521228277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 50521228278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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T T TE] TS 2
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521228279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521228280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

M ol . O i
Eﬁ-l?'l'(:r T o7 T =T T TR ST AT 29
l.

nggﬂﬂ

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521228281 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options:
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521228282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T E - E

. F+0F

2. §+d7

% 'ﬁ + HdH

4. TH + 3
Options :
1.1
2.2
3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 5052121626

Question Shuffling Allowed : Yes

Question Id : 50521228283 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension
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Sub questions

Question Number : 100 Question Id : 50521228284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wwimﬁg@d:&ﬂﬁmn?ﬁﬁ%‘?
| wEEa
2. HITE H
3. <Al
4. ATHETA I
Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 50521228285 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Y

1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521228286 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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2. TeTer ]
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4. st fEy

Options :

1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521228287 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521228288 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 105 Question Id : 50521228289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 50521228283 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)

Question Label : Comprehension
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Sub questions

Question Number : 100 Question Id : 50521228284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 50521228285 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Y

1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521228286 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. @mfﬂﬁt\dﬁu
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Options :

1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521228287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST STFHT 2| WIS U T o Ui & eifireaeh B
. §E, 3 T ST
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3. T TE o U 36
4. TEfmEIEFre

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521228288 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521228289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. TSRS

3. SHISWT

4. -

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121627

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521228290 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 106 Question Id : 50521228290 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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2. e (fge) 1
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Options :
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4.4

Question Number : 107 Question Id : 50521228291 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521228291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521228292 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 108 Question Id : 50521228292 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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3. WA

4, T
Options :
1.1
2.2
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Question Number : 109 Question Id : 50521228293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521228293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 110 Question Id : 50521228294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 110 Question Id : 50521228294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 111 Question Id : 50521228295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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2.2
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4.4

Question Number : 111 Question Id : 50521228295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 112 Question Id : 50521228296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

[
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Question Number : 112 Question Id : 50521228296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSI T S-S IRt a5 W7 o S 27
1. @74 fagm

4. = famm
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Question Number : 113 Question Id : 50521228297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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4.4

Question Number : 113 Question Id : 50521228297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521228298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 114 Question Id : 50521228298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 115 Question Id : 50521228299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1
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4.4

Question Number : 115 Question Id : 50521228299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T % W O (o) 9 () W Frm

P () : ool 2 o5 o T o e T T faf et o 9 e e 1 e v 6 0 9 Y T 2
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4, (%) 3 () TR T B

Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 50521228300 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521228300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 117 Question Id : 50521228301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3

4.4

Question Number : 117 Question Id : 50521228301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4



Question Number : 118 Question Id : 50521228302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T S o I 91 (e e 6 T St e, TR o ST €, 7 T SRVATUes 28 1 0 1
| 0T P 3 (e
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4, R T T ST T - 2 A 0

Options :

1.1
2.2
3.3

4.4

Question Number : 118 Question Id : 50521228302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T R 5 A 2 T e 3 27 S e e v T 2, 74 T S 2 3 S 1
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Options :

1.1
2.2
3.3

4.4



Question Number : 119 Question Id : 50521228303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 50521228303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR 1 % S 1 59 T 51 A 0 ¢ (o SO Tl 1 5 o 0 2, o 0 2 S 7 27
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Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 50521228304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 120 Question Id : 50521228304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR ST 70T 2 Farer § e (3) 91 (§) W e
mmwmﬁmmwgﬁmamwamm%%mmﬁﬁﬁ$wmm$mmﬁmﬁﬁaﬁ%
mﬂm-%mﬁﬁﬁhmﬁ%aﬁﬁﬁmmm%amwmmmﬁﬁﬁﬁﬁﬁﬂmémﬁmﬁ
. (37) T, (3) T
2. (o) T, (3) W
3(?&& ) T W
4. (o) 9 () 1 T 2
Options :
1.1
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Language II



SectionId: 505212894

Section Number : 5

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121628
Question Shuffling Allowed : Yes

Question Id : 50521228305 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Directions: Read the extract given below and answer the gquestions
that follow by selecting the correct / most appropriate options:

How safe is it for vaccinated people to get together?

1. As part of its interim recommendations [these
recommendations are not followed anymore], the Centre for
Disease Control (CDC) says that people who are fully
vaccinated can mix with small groups of other fully vaccinated
people indoors without masks or social distancing. The agency
also says that the fully vaccinated can meet with unvaccinated
people from a single household who are at low risk of
developing severe forms of the disease, no masks or
distancing required.

2. Still, the decision for vaccinated people to mix involves mental
“calculus,” says Swartzberg, which should take into account
how likely anyone is to be exposed to the SARS-CoV-2 virus,
vaccinated or not, because there is still a small chance even
vaccinated person could become infected or that they could
infect an unvaccinated person.

3. Astime goes on, when more people are vaccinated and the
number of infected individuals continues to drop. Moss says a
gathering among vaccinated people “will be a safe one” and
will continue to get safer.

4. “To be on the safe side,” says Cynthia Leifer, Associate
Professor of Immunology at Cornell University, “we should
still practice distancing measures as much as we can in the
shorter term until we get broader distribution of the vaccine
and greater immunity.” She recommends people to continue
to follow the guidelines of avoiding large groups, wearing
masks, and staying at least six feet apart.

5. Iltis also not known how effective the vaccines will be against
new variants, including ones that haven't been discovered
yet.

6. “The more that COVID is circulating right now, the more
potential there is for variants to arise.” Leifer says. “We can’t
predict when a new variant might arise that is perhaps not
covered by the vaccine.

7. The Novavax vaccine, which is not yet approved for use,
showed a sizable drop in efficacy — from 49.4 percent —
against a variant that originated in South Africa but has since
spread internationally. Pfizer and Moderna are still testing
how well its vaccines work against a more contagious variant
first discovered in the U.K.

Sub questions

Question Number : 121 Question Id : 50521228306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify why one should get
vaccinated.

Assentation (A) : Recommendations given below in
paragraph 1 are not followed anymore by the people
across the globe.

Reasoning ( R) : There is still chance that vaccinate people
can become infected and infect other people.

Both A andR are true
Both A and R are false
A is true but R is false
4. Aisfalse and R is true

i Bl =

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521228307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar in meaning to the
word ‘predict’ as used in the passage (para 6)

announce
reveal
forecast
4, indicate

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521228308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Complete the following sentence by choosing the correct
option.

When more people are vaccinated —

-h-.i

it would be absolutely safe to attend large
functions.

2. it will be safe to open schools.

3. there will be no need for social distancing.
4. people can gather in small numbers.

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521228309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which paragraph lists the recommendation of Centre for
Disease Control?

Paraland 2
Only para 3
Parad and 5
4, Only paral

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521228310 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not supported by evidence in the
passage?

1. Cynthia Leifer recommends that people should
follow Covid-19 guidelines even through a large
number of people are vaccinated.

2. According to Leifer no one can predict when a new
variant might arise

3. The Novavax Vaccine has shown considerable drop
in efficacy.

4. There will be no need to wear masks and practise
social distancing when majority of the people have
received at least one jab.

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521228311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

If he will work hard,
(a) (b)
he will face any problem
(c) (d)
1. (b)
2. (a)
3. (d)
4. (c)
Options :
1.1
2.2
3.3

4.4



Question Number : 127 Question Id : 50521228312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

The fight against Covid — 19 will continue till people are
fully vaccinated.

Noun
Pronoun
Adverb
Adjective

et e

Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521228313 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which can be the most suitable synonym
for the word ‘sizable’ used in the passage.

respectable
extensive
substantial
4. whooping

ol e B

Options :
1.1
2.2
3.3
4.4



Question Id : 50521228305 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension

Directions: Read the extract given below and answer the questions
that follow by selecting the correct / most appropriate options:

How safe is it for vaccinated people to get together?

1. As part of its interim recommendations [these
recommendations are not followed anymore], the Centre for
Disease Control (CDC) says that people who are fully
vaccinated can mix with small groups of other fully vaccinated
people indoors without masks or social distancing. The agency
also says that the fully vaccinated can meet with unvaccinated
people from a single household who are at low risk of
developing severe forms of the disease, no masks or
distancing required.

2. &iill, the decision for vaccinated people to mix invelves mental
“calculus,” says Swartzberg, which should take into account
how likely anyone is to be exposed to the SARS-CoV-2 virus,
vaccinated or not, because there is still a small chance even
vaccinated person could become infected or that they could
infect an unvaccinated person.

3. Astime goes on, when more people are vaccinated and the
number of infected individuals continues to drop. Moss says a
gathering among vaccinated people “will be a safe one™ and
will continue to get safer.

4. “To be on the safe side,” says Cynthia Leifer, Associate
Professor of Immunology at Cornell University, “we should
still practice distancing measures as much as we can in the
shorter term until we get broader distribution of the vaccine
and greater immunity.” She recommends people to continue
to follow the guidelines of avoiding large groups, wearing
masks, and staying at least six feet apart.

5. Itis also not known how effective the vaccines will be against
new variants, including ones that haven’t been discovered
yet.

6. “The more that COVID is circulating right now, the more
potential there is for variants to arise.” Leifer says. “We can’t
predict when a new variant might arise that is perhaps not
covered by the vaccine.

7. The Novavax vaccine, which is not yet approved for use,
showed a sizable drop in efficacy — from 49.4 percent —
against a variant that originated in South Africa but has since
spread internationally. Pfizer and Moderna are still testing
how well its vaccines work against a more contagious variant
first discovered in the U.K.

Sub questions



Question Number : 121 Question Id : 50521228306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the correct option to justify why one should get
vaccinated.

Assentation (A) : Recommendations given below in
paragraph 1 are not followed anymore by the people
across the globe.

Reasoning ( R) : There is still chance that vaccinate people
can become infected and infect other people.

Both A and R are true
Both A and R are false
A is true but R is false
4. Aisfalse and R is true

i 1=t

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521228307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar in meaning to the
word ‘predict’ as used in the passage (para 6)

announce
reveal
forecast
4, indicate

il ol

Options :
1.1
2.2
3.3
4.4



Question Number : 123 Question Id : 50521228308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Complete the following sentence by choosing the correct
option.
When more people are vaccinated —

-h-.i

it would be absolutely safe to attend large
functions.

2. it will be safe to open schools.

3. there will be no need for social distancing.
4. people can gather in small numbers.

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521228309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which paragraph lists the recommendation of Centre for
Disease Control?

Paraland 2
Only para 3
Para4 and 5
4. Only paral

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521228310 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not supported by evidence in the
passage?

1. Cynthia Leifer recommends that people should
follow Covid-19 guidelines even through a large
number of people are vaccinated.

2. According to Leifer no one can predict when a new
variant might arise

3. The Novavax Vaccine has shown considerable drop
in efficacy.

4. There will be no need to wear masks and practise
social distancing when majority of the people have
received at least one jab.

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521228311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

If he will work hard,
(a) (b)
he will face any problem
(c) (d)
b )
2. (3)
3. (d)
4. (c)
Options :

1.1
2.2



3.3
4.4

Question Number : 127 Question Id : 50521228312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

The fight against Covid — 19 will continue till people are
fully vaccinated.

MNoun
Pronoun
Adverb
Adjective

e e

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521228313 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which can be the most suitable synonym
for the word ‘sizable’ used in the passage.

respectable
extensive
substantial
4. whooping

ol v B

Options:
1.1
2.2
3.3
4.4



Sub-Section Number : 2
Sub-Section Id : 5052121629

Question Shuffling Allowed : Yes

Question Id : 50521228314 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

Directions: Read the extract given below and answer the questions
that follow by selecting the correct / most appropriate options:

And if | have a fancy for dyeing my hair, or waxing my moustache
(which heaven forbid), or wearing an overcoat and sandals, or going
to bed late or getting up early, | shall follow my fancy and ask no
man’s permission. | shall not inquire of you whether | may eat
mustard with my mutton. And you will not ask me whether you may
follow this religion or that, whether you may prefer Ella Wheeler
Wilcox to Wordsworth, or champagne to shandy. In all these and a
thousand other details you and | please ourselves and have no one’s
leave.

We have a whole kingdom in which we rule alone, can do what we
choose, be wise or ridiculous, harsh or easy, conventional or odd.
But when we step out of that kingdom, our personal liberty of
action becomes qualified by other people’s liberty. | might like to
practise on the trombone from midnight till three in the morning. If |
went onto the top of Everest to do it, | could please myself, but if |
do it in my bedroom my family will object, and if | do it out in the
streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet.

There are a lot of people in the world, and | have to accommodate
my liberty to their liberties. We are all liable to forget this, and
unfortunately we are much more conscious of the imperfections of
others in this respect than of our own. A reasonable consideration
for the rights or feelings of other is the foundation of social conduct.
It is in the small matters of conduct in the observance of the rule of
the road, that we pass judgement upon ourselves, and declare that
we are civilized or uncivilized. The great moments of heroism and
sacrifice are rare. It is the little habits of commonplace intercourse
that make up the great sum of life and sweeten or make bitter the

journey.



Sub questions

Question Number : 129 Question Id : 50521228315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

| know he will straightaway reject
(a) (b) (c)
my_proposal
(d)
1. (a)
2. (b)
S fe]
4. (d)
Options:
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521228316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which has almost the exact opposite
meaning of the word ‘forbid’ used in the text.

approve
interdict
prohibit
4. permit

el B £

Options :
1.1
2.2
3.3



4.4

Question Number : 131 Question Id : 50521228317 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according to the
passage?

1. We are perfectly free to eat whatever we like

2. We do not have to seek anyone’s permission to read
what pleases us

3. We have the liberty to sing and dance at a public
place

4. We have to accommodate our liberty to other’s

liberty
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521228318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does the author mean by “ we have a whole
kingdom” ? Choose the option that best answers this
questions.

area of limited personal choices

area of power and supremacy

area of independent personal choices

4. area of personal choice, curtailed by social orders

e I =

Options :
1.1
2.2
3.3



4.4

Question Number : 133 Question Id : 50521228319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option that includes the best /closest meaning of
the word “conscious” as used in the para 3 of the passage.

sensitive
aware
cautious
4. scrupulous

il el

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521228320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What establishes the foundation of social conduct? Pick
the appropriate option to answer the guestion.

1. Ensuring our rights are not infringed by others.

2. Ensuring our rights are not infringed by authority.

3. When others consider our rights and feelings with
reasonable consideration.

4. Reasonable consideration for the rights and feelings

of others.
Options :
1.1
2.2
3.3

4.4



Question Number : 135 Question Id : 50521228321 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the best option to complete the sentence.
A truly civilised person will respect and be considerate,
while interacting with others

in larger matters of conduct.

in significant matter of conduct.
In selective matter of conduct.

4. even in small matters of conduct.

il

Options :
1.1
2.2
3.3
4.4

Question Id : 50521228314 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
that follow by selecting the correct / most appropriate options:

And if | have a fancy for dyeing my hair, or waxing my moustache
(which heaven forbid), or wearing an overcoat and sandals, or going
to bed late or getting up early, | shall follow my fancy and ask no
man’s permission. | shall not inquire of you whether | may eat
mustard with my mutton. And you will not ask me whether you may
follow this religion or that, whether you may prefer Ella Wheeler
Wilcox to Wordsworth, or champagne to shandy. In all these and a
thousand other details you and | please ourselves and have no one’s
leave.

We have a whole kingdom in which we rule alone, can do what we
choose, be wise or ridiculous, harsh or easy, conventional or odd.
But when we step out of that kingdom, our personal liberty of
action becomes qualified by other people’s liberty. | might like to
practise on the trombone from midnight till three in the morning. If |
went onto the top of Everest to do it, | could please myself, but if |
do it in my bedroom my family will object, and if | do it out in the
streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet.

There are a lot of people in the world, and | have to accommodate
my liberty to their liberties. We are all liable to forget this, and
unfortunately we are much more conscious of the imperfections of
others in this respect than of our own. A reasonable consideration
for the rights or feelings of other is the foundation of social conduct.
It is in the small matters of conduct in the observance of the rule of
the road, that we pass judgement upon ourselves, and declare that
we are civilized or uncivilized. The great moments of heroism and
sacrifice are rare. It is the little habits of commonplace intercourse
that make up the great sum of life and sweeten or make bitter the

journey.

Sub questions

Question Number : 129 Question Id : 50521228315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?

| know he will straightaway reject

(a) (b) (c)

my_ proposal
(d)

1. (a)
2. (b)
e ]
4. (d}

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521228316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which has almost the exact opposite
meaning of the word “forbid’ used in the text.

approve
interdict
prohibit
4. permit

el B B

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521228317 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according to the
passage?

1. We are perfectly free to eat whatever we like

2. We do not have to seek anyone’s permission to read
what pleases us

3. We have the liberty to sing and dance at a public
place

4. We have to accommodate our liberty to other’s

liberty
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521228318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does the author mean by “ we have a whole
kingdom” ? Choose the option that best answers this
guestions.

area of limited personal choices

area of power and supremacy

area of independent personal choices

4. area of personal choice, curtailed by social orders

e I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521228319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the option that includes the best /closest meaning of
the word “conscious” as used in the para 3 of the passage.

sensitive
aware
cautious
4, scrupulous

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521228320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What establishes the foundation of social conduct? Pick
the appropriate option to answer the guestion.

1. Ensuring our rights are not infringed by others.

2. Ensuring our rights are not infringed by authority.

3. When others consider our rights and feelings with
reasonable consideration.

4. Reasonable consideration for the rights and feelings

of others.
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521228321 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the best option to complete the sentence.
A truly civilised person will respect and be considerate,
while interacting with others

in larger matters of conduct.

in significant matter of conduct.
In selective matter of conduct.

4. even in small matters of conduct.

W 0

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121630

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521228322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Explanatory or informative discourse is

Exposition.
Narration.
Persuasion.
Description.

= L R B

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521228322 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Explanatory or informative discourse is

Exposition.
Narration.
Persuasion.
Description.

= L B

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521228323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Deficiency in the ability to write, associate with impaired handwriting, is a symbol of

1. Dysgraphia
2. Dyspraxia
3. Dyscalculia
4. Dyslexia

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 50521228323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Deficiency in the ability to write, associate with impaired handwriting, is a symbol of

Dysgraphia
Dyspraxia
Dyscalculia
Dyslexia

e o



Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521228324 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The teacher has given strips of incomplete sentences to students. They have to join each incomplete sentence with its
correct half. What could be the objective of the teacher to conduct such activity in class?

1. Tofocus on correct syntax formation

2. Tolearn to compose write ups

3. Tofocus on punctuation

4. Toenable learners to improve their speech

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521228324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The teacher has given strips of incomplete sentences to students. They have to join each incomplete sentence with its
correct half. What could be the objective of the teacher to conduct such activity in class?

1. Tofocus on correct syntax formation

2. Tolearn to compose write ups

3. Tofocus on punctuation

4. Toenable learners to improve their speech

Options:
1.1
2.2



3.3
4.4

Question Number : 139 Question Id : 50521228325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to listen to a recording to get the overall meaning of the passage is known as

a comprehensive task
a skim listening task
a gist listening task

a scan listening task

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521228325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to listen to a recording to get the overall meaning of the passage is known as

a comprehensive task
a skim listening task
a gist listening task

a scan listening task

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521228326 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An activity that involves listening to a text, taking notes and reconstructing the text, is called

1. Dictation

2. Dictogloss

3. Diction analysis
4. Diglossia
Options:

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 50521228326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An activity that involves listening to a text, taking notes and reconstructing the text, is called

1. Dictation
2. Dictogloss
3. Diction analysis
4. Diglossia

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521228327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Human beings are born with the capacity to acquire language’ this statement is related to

1. Vygostsky
2. Piaget
3. Chomsky
4. Bruner

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521228327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Human beings are born with the capacity to acquire language’ this statement is related to

1. Vygostsky
2. Piaget
3. Chomsky
4. Bruner

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521228328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The following NOT considered a part of sociolinguistics

1. The study of economic and / or political factors and their influence on language change
2. The study of the attitudes of people towards certain speech characteristics

3. The study of the sounds in spoken language

4, The general perception of a dialect, within a society.



Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521228328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The following NOT considered a part of sociolinguistics

1. The study of economic and / or political factors and their influence on language change
2. The study of the attitudes of people towards certain speech characteristics

3. The study of the sounds in spoken language

4, The general perception of a dialect, within a society.

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521228329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : All children who enter school are highly competent
language users.

Reason ( R) : Due to language and cultural diversity, they are unable
to demonstrate their abilities.

Both (A) and (R ) are true (R ) is the correct explanation of (A)

Both ( A) and ( R) are true and R is the not the correct explanation of (A)
(A) is true but (R) is false

(A) is false and (R) is true

aa ol v

Options :

1.1



2.2
3.3
4.4

Question Number : 143 Question Id : 50521228329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : All children who enter school are highly competent
language users.

Reason ( R) : Due to language and cultural diversity, they are unable
to demonstrate their abilities.

1. Both (A) and (R ) are true (R ) is the correct explanation of ( A)
2. Both(A)and(R) are true and R is the not the correct explanation of (A)
3. (A)is true but (R) is false
4, (A)is false and (R) is true
Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521228330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the option that includes the correct matches of column A with column B.

Column ‘A’ Column ‘B’
(a) filling in an immigration form (i) focusing on accuracy
(b) giving a presentation at the (ii)  focusing on fluency
business meeting
(c) calling out for help in an (iii)  focusing on accuracy
emergency
(d) talking to friends in a party (iv) focusing on fluency
1. (a)— (i), (b) = (i), (c) —(iv), (d) —(iii)
2. (a) = (i), (b) = (i), (c) i), (d) —(iv)
3. (a) = (iii), (b) = (ii), (c) —(iv), (d) (i)
4. (a) = (iv), (b) = (ii), (c) —iii), (d) —(i)
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521228330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option that includes the correct matches of column A with column B.

Column ‘A’ Column ‘B’
(a) filling in an immigration form (i) focusing on accuracy
(b) giving a presentation at the (ii)  focusing on fluency
business meeting
(c) calling out for help in an (iii)  focusing on accuracy
emergency
(d) talking to friends in a party (iv)  focusing on fluency
1. (a)— (i), (b) = (i), (c) —(iv), (d) —(iii)
2. (a) = (i), (b) = (i), (c) i), (d) —(iv)
3. (a) = (iii), (b) = (ii), (c) —(iv), (d) (i)
4. (a) = (iv), (b) = (ii), (c) —iii), (d) —(i)
Options :

1.1



2.2
3.3
4.4

Question Number : 145 Question Id : 50521228331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an appropriate activity for teaching language skills?

Reciting poems

Role play of drama in class
Organize debate competition
Organize speech competition

o Lkd B

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521228331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an appropriate activity for teaching language skills?

Reciting poems

Role play of drama in class
Organize debate competition
Organize speech competition

o Lkd B

Options :
1.1
2.2
3.3
4.4



Question Number : 146 Question Id : 50521228332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the best practice for developing creative writing?

Formal writing
Non-formal writing
Report writing
Essay writing

P L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521228332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the best practice for developing creative writing?

Formal writing
Non-formal writing
Report writing
Essay writing

P L B b

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521228333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following language is included in the 8t schedule of constitution?

1. Awadhi
2. Nagpuri
3. Bodo

4. Rajasthani

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521228333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following language is included in the 8th schedule of constitution?

Awadhi

Nagpuri

Bodo
4, Rajasthani

e

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521228334 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which language is recommended by National Curriculum Framewaork (NCF 2005) for the ‘Instruction Medium'’ at the
primary level?

1. Mother tongue

2. Regional language

8% schedule

3. Any language included in
4. English

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 50521228334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which language is recommended by National Curriculum Framework (NCF 2005) for the ‘Instruction Medium'’ at the
primary level?

1. Mother tongue

2. Regional language

3. Any language included in 8 schedule
4, English

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521228335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The most useful method for teaching grammar is

Lecture Method
Inductive Method
Direct Method
Communication Method

el ol e



Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521228335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The most useful method for teaching grammar is

Lecture Method
Inductive Method
Direct Method

4. Communication Method

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521228336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar in context means

moving from meaning to form
moving from form to meaning
learning trough drills

learning grammar as content.

P Lk B b

Options :
1.1
2.2
3.3



4.4

Question Number : 150 Question Id : 50521228336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar in context means

moving from meaning to form
moving from form to meaning
learning trough drills

learning grammar as content.

o L B b

Options :
1.1
2.2
3.3
4.4



